Universidad de Guadalajara Lamar
8° A
Jorge Pablo Napoleón López López
Hospital Civil Fray Antonio Alcalde.
	Formulas
	Sustitucion
	Resultado.

	Sens:  a/a+c



	Sens: 17/17+28
	0.377

	Esp: d/b+d



	53/2+53
	0.963

	Exactitud: a+d/a+b+c+d



	17+53/17+2+28+53
	0.7

	Vp+: a/a+b



	17/17+2
	0.894

	Vp-: d/c+d



	53/28+53
	0.654

	Prev: a+c/a+b+c+d



	17+28/17+2+28+53
	0.45

	Rv: sens/1- Esp



	0.377/1-0.963
	10.18








Respuestas. 

1. Si
2. Si
3. No
4. No
5. No
6. Si
7. No
8. Si
9. No
10. [bookmark: _GoBack]No
